

Oscillation of Solution of Third Order Non-Linear Neutral Difference Equations

Intidhar Zamil Mushtt

Mustansiriyah University, College of Education, Baghdad. Iraq

Abstract : this research shows the oscillatory of third -order difference equation $\Delta^2 z(n) + q(n)f(x(n + \mu)) = 0$.

Also ,deriving some new sufficient conditions which are of great value to the study of the target equation .

Keywords: Oscillation; neutral ; third order , difference equations;

Introduction :

In this article we shall concerned with the oscillatory of third –order non linear neutral delay difference equation as the from

$$\Delta^3 z(n) + q(n)f(x(n + \mu)) = 0 \quad (1)$$

Where $z(n) = x(n) + p(n)x(n - \sigma)$,and n, σ, μ are positive integral ,the real sequences $\{p(n)\}, \{q(n)\}$ and f are satisfies following conditions

(d1) $q(n) \neq 0$, $p(n) \geq 0$

(d2) $f \in C(R, R)$ such that $f(xy) \geq f(x)f(y)$ and $\frac{f(y)}{y} \geq \gamma$.where $\gamma > 0, y \neq 0$.

By a solution of (1) we mean a nontrivial real sequence $x(n)$ is said to be oscillatory ,if it neither eventually positive nor eventually negative , otherwise is nonoscillatory for $x(n)$ that is a defined for $n \geq n_0$

There has been a lot of attention in the oscillation of difference equation of first- order, second and higher order, see for examples [5-8,10-13] also we can find the results on third-order n [2-4,9,12,14,15] and the sources cited therein.

The our purpose in this paper is to supply sufficient condition which ensure equation (1) that all solution of this equation are oscillation .

In obtaining the chief results ,we will entail to use following lemma :

Lemma 1[3] :

Assume that g is positive real sequence and η is appositve integer .if

$$\liminf_{n \rightarrow \infty} \sum_{j=n}^{n+\eta-1} q(j) > \frac{\eta^\eta}{(\eta+1)^{\eta+1}}$$

Then

1) difference inequality

$$\Delta x(n) - q(n)x(n+\eta) \geq 0$$

has no eventually positive solution ,

2) difference inequality

$$\Delta x(n) - q(n)x(n+\eta) \leq 0$$

has no eventually negative solution.

Main Results :

In this portion ,we establish some new sufficient conditions for all solution of (1) to oscillation.

Theorem1 : assume that $0 \leq p_n < p < 1, \mu \geq 1, q(n) > 0$, and

$$\limsup_{n \rightarrow \infty} \sum_{i=n_5}^n \left[\gamma h(i) q(i) f(1-p) - \frac{(\Delta h(i))^2}{2(i+1)h(i)} \right] = \infty \quad (2)$$

$$\sum_{r=n}^{\infty} \sum_{j=n}^{\infty} \sum_{i=n}^{\infty} q(i) = \infty \quad (3)$$

Then every solution of (1)oscillation

Proof : Let $\{x(n)\}$ be an eventually positive solution of equation (1) then there exist an $n \geq n_0$, such that , $x(n - \sigma), x(n + \mu) > 0$.

Since $z(n) \geq x(n) > 0$ for $n_1 \geq n_0$

Form equation (1) we have

$$\Delta^3 z(n) = -q(n)f(x(n + \mu)) \leq 0$$

Then $\Delta^2 z(n)$ is monotone , and eventually of one sign. we claim that $\Delta^2 z(n) > 0$, suppose to the contrary that $\Delta^2 z(n) < 0$ then there exist a negative constant M for $n_2 \geq n_1$ so that $\Delta^2 z(n) < M, n \geq n_2$

We Summing from n_2 to $n - 1$ we obtain

$$\Delta z(n) \leq \Delta z(n_2) + M(n - 1 - n_2) \quad (4)$$

letting $n \rightarrow \infty$, then $\Delta z(n) \rightarrow -\infty$, there is an integer , $n_3 \geq n_2$ such that $\Delta z(n) \leq \Delta z(n_3) < 0$ for $n \geq n_3$.

Summing (4) from n_3 to $n - 1$ we obtain

$$z(n) - z(n_3) \leq M(n - 1 - n_3)$$

this implies that $z(n) \rightarrow -\infty$ as $n \rightarrow \infty$, which a contradiction with actuality that $z(n)$ is positive .

Then $\Delta^2 z(n) > 0$, and we have two cases for $n \geq n_1$:

- 1) $\Delta^3 z_n \leq, \Delta^2 z_n > 0, \Delta z_n > 0, z_n > 0$,
- 2) $\Delta^3 z_n \leq, \Delta^2 z_n > 0, \Delta z_n < 0, z_n > 0$.

Case1 : by equation $z(n) = x(n) + p(n)x(n - \sigma)$ we get

$$x(n) \geq z(n) - pz(n - \sigma) \geq (1 - p)z(n) \quad (5)$$

Using the above inequality in equation (1) as using (d2) we obtain

$$\Delta^3 z(n) + \gamma q(n)f(1 - p)z(n + \mu) \leq 0 \quad (6)$$

define $\omega(n) = \frac{h(n)\Delta^2 z(n)}{z(n + \mu)}$

$\omega(n)$ is positive and satisfies

$$\Delta \omega(n) = \frac{h(n)}{z(n + \mu)} \Delta^3 z(n) + \Delta \left(\frac{h(n)}{z(n + \mu)} \right) \Delta^2 z(n + 1)$$

Substation in (6) we have

$$\Delta\omega(n) \leq -\gamma h(n)q(n)f(1-p) + \frac{\Delta h(n)}{h(n+1)}\omega(n+1) - \frac{h(n)\Delta z(n+\mu)\Delta^2 z(n+1)}{z(n+\mu)z(n+\mu+1)}$$

Since $z(n+\mu) \leq z(n+\mu+1)$ then

$$\Delta\omega(n) \leq -\gamma h(n)q(n)f(1-p) + \frac{\Delta h(n)}{h(n+1)}\omega(n+1) - \frac{h(n)\Delta z(n+\mu)\Delta^2 z(n+1)}{z^2(n+\mu+1)} \quad (7)$$

From the monotonicity property of $\Delta^2 z(n)$ we obtain $\Delta z(n) \geq \sum_{i=n_4}^{n-1} \Delta^2 z(n)$

Or $\Delta z(n) \geq \frac{n}{2} \Delta^2 z(n)$ for $n \geq 1+n_4$

Then $\Delta z(n+1) \geq \frac{n+1}{2} \Delta^2 z(n+1)$

since $\Delta z(n)$ increasing then $\Delta z(n+\mu) \geq \Delta z(n+1) \geq \frac{n+1}{2} \Delta^2 z(n+1)$ then the equation (7) it become

$$\Delta\omega(n) \leq -\gamma h(n)q(n)f(1-p) + \frac{\Delta h(n)}{h(n+1)}\omega(n+1) - \frac{(n+1)h(n)\Delta^2 z(n+1)\Delta^2 z(n+1)}{2z^2(n+\mu+1)}$$

Then

$$\Delta\omega(n) \leq -\gamma h(n)q(n)f(1-p) + \frac{\Delta h(n)}{h(n+1)}\omega(n+1) - \frac{(n+1)h(n)}{2h^2(n+1)}w^2(n+1)$$

$$\Delta\omega(n) \leq - \left[\frac{\sqrt{(n+1)h(n)}}{\sqrt{2} h(n+1)} \omega(n+1) - \frac{\Delta h(n)}{\sqrt{2(n+1)h(n)}} \right]^2 - \gamma h(n)q(n)f(1-p) + \frac{(\Delta h(n))^2}{2(n+1)h(n)}$$

The we have

$$\Delta\omega(n) \leq -\gamma h(n)q(n)f(1-p) + \frac{(\Delta h(n))^2}{2(n+1)h(n)}$$

Summing from n_5 into n we get

$$\omega(n+1) - \omega(n_5) \leq - \sum_{i=n_5}^n \left[\gamma h(i)q(i)f(1-p) - \frac{(\Delta h(i))^2}{2(i+1)h(i)} \right]$$

Which yields

$$\sum_{i=n_5}^n \left[\gamma h(i)q(i)f(1-p) - \frac{(\Delta h(i))^2}{2(i+1)h(i)} \right] \geq \omega(n_5)$$

Which is contradiction with (2).

Case 2: $\Delta^3 z(n) \leq 0, \Delta^2 z(n) > 0, \Delta z(n) < 0, z(n) > 0$

In this case $x(n)$ is eventually positive .as , $\Delta z(n) < 0$ eventually , $z(n)$ is positive and nonincreasing ,we have $z(n) \rightarrow \beta$ as $n \rightarrow \infty$ where $0 < \beta < \infty$, then there exist $\epsilon \in (0,1)$ such that $\beta - \epsilon \leq z(n) \leq z(n - \sigma) \leq \beta + \epsilon$.

So $x(n) \geq z(n) - px(n - \sigma) \geq z(n) - pz(n - \sigma) \geq \tau z(n)$

Where $\tau = [(\beta - \epsilon) - p(\beta + \epsilon)]/(\beta + \epsilon)$

Using the above inequality in (1) we obtain

$$\Delta^3 z(n) + \gamma \tau q(n)z(n + \mu) \leq 0$$

And

$$\Delta^3 z(n) \leq -\gamma \tau q(n)z(n + \mu)$$

Summing the above inequality from n into ∞ we obtain

$$-\Delta^2 z(n) \leq -\gamma\tau \sum_{i=n}^{\infty} q(i)z(i+\mu)$$

$$\Delta^2 z(n) \geq \gamma\tau \sum_{i=n}^{\infty} q(i)z(i+\mu)$$

Where $z(n+\mu) \geq \beta$ then

$$\Delta^2 z(n) \geq \gamma\tau\beta \sum_{i=n}^{\infty} q(i)$$

Since summing again from n to ∞ we get ,we have

$$-\Delta z(n) \geq \gamma\tau\beta \sum_{j=n}^{\infty} \sum_{i=n}^{\infty} q(i)$$

Again summing from n to ∞

$$z(n) \geq \gamma\tau\beta \sum_{r=n}^{\infty} \sum_{j=n}^{\infty} \sum_{i=n}^{\infty} q(i)$$

This is contradiction with (3)

Theorem 2: suppose that $0 < p(n) \leq p < 1, \mu \geq 1, q(n) \leq 0$, if

$$\sum_{\kappa=n-\mu}^n (n-\kappa-1)|q(r)|f(1-p) \geq \frac{2}{n} \quad (8)$$

$$\liminf_{n \rightarrow \infty} \sum_n^{n+\mu-1} \sum_n^{s-1} \gamma|q(n)|f(1-p) > \left(\frac{\mu}{\mu+1}\right)^{\mu+1} \quad (9)$$

Then all solution of (1) is oscillation .

Proof : Let $\{x(n)\}$ be an eventually positive solution of equation (1) then there exist an $n \geq n_0$, where $x(n-\sigma), x(n+\mu) > 0$.

Form equation (1) we get

$$\Delta^3 z(n) = |q(n)|f(x(n+\mu)) \geq 0 \quad (10)$$

Since $(n) \geq x(n) > 0$, for $n_1 \geq n_0$ and by (10) we have two cases:

1) $\Delta^3 z(n) \geq 0, \Delta^2 z(n) > 0, \Delta z(n) > 0, z(n) > 0$,

$$2) \Delta^3 z(n) \geq 0, \Delta^2 z(n) < 0, \Delta z(n) > 0, z(n) > 0,$$

Case 1: $\Delta^3 z(n) \geq 0, \Delta^2 z(n) > 0, \Delta z(n) > 0, z(n) > 0$, for $n_3 \geq n_2$

from (corollary 1.86 in [1]) we have

$$\Delta^\eta z(n) = \sum_{i=m}^{\xi-1} \frac{(n-a)}{(i-\eta)!} \Delta^i z(a) + \frac{1}{(\xi-\eta-1)!} \sum_{\kappa=a}^{n-\xi+\eta} (n-\kappa-1)^{(\xi-\eta-1)} \Delta^\xi z(\kappa)$$

Where $0 \leq \eta \leq \xi - 1$ Take $\xi = 3, \eta = 1$ we obtain

$$\begin{aligned} \Delta z(n) &= \sum_{i=1}^2 \frac{(n-a)}{(i-\eta)!} \Delta^i z(a) + \sum_{r=a}^{n-2} (n-\kappa-1) \Delta^3 z(\kappa) \\ \Delta z(n) &\geq \sum_{\kappa=a}^{n-2} (n-\kappa-1) \Delta^3 z(\kappa) \end{aligned} \quad (11)$$

Now from (5) and (10) we get

$$\Delta^3 z(n) \geq |q(n)|f((1-p)z(n+\mu)) \geq |q(n)|f(1-p)z(n+\mu)$$

Substation in (11) we get

$$\Delta z(n) \geq \sum_{\kappa=a}^{n-2} (n-\kappa-1)|q(\kappa)|f(1-p)z(\kappa+\mu)$$

And

$$\Delta z(n) \geq \sum_{\kappa=n-\mu}^n (n-\kappa-1)|q(\kappa)|f(1-p)z(\kappa+\mu)$$

So $z(n)$ increasing then

$$\Delta z(n) \geq z(n) \sum_{\kappa=n-\mu}^n (n-\kappa-1)|q(\kappa)|f(1-p)$$

No by using $z(n) \geq \frac{n}{2} \Delta z(n)$ then

$$z(n) \geq \frac{n}{2} \Delta z(n) \geq \frac{n}{2} z(n) \sum_{\kappa=n-\mu}^n (n - \kappa - 1) |q(\kappa)| f(1 - p)$$

$$\frac{2}{n} \geq \sum_{\kappa=n-\mu}^n (n - \kappa - 1) |q(\kappa)| f(1 - p)$$

Which is contradiction with (8)

Case 2: $\Delta^3 z(n) \geq 0, \Delta^2 z(n) < 0, \Delta z(n) > 0, z(n) > 0$, for $n_4 \geq n_3$

Since equation (1) we can written as the from

$$\Delta^2 z(n+1) - \Delta^2 z(n) = |q(n)| f(x(n+\mu)) \quad (12)$$

since $x(n) \geq (1-p)z(n)$ and using (d2) then (10) it become

$$-\Delta^2 z(n) \geq \gamma |q(n)| f(1-p) z(n+\mu) \quad (13)$$

Summing both side of (13) from n to $s-1$ we get

$$-\Delta z(s) + \Delta z(n) \geq \sum_{n}^{s-1} \gamma |q(i)| f(1-p) z(i+\mu)$$

And $\Delta z(n) \geq \sum_{n}^{s-1} \gamma |q(i)| f(1-p) z(i+\mu)$

$$\Delta z(n) \geq z(n+\mu) \sum_n^{s-1} \gamma |q(i)| f(1-p)$$

$$\Delta z(n) - z(n+\mu) \geq \sum_n^{s-1} \gamma |q(i)| f(1-p)$$

Which is a contradiction of lemma (1) and condition (9).

Examples :

In this part ,we present some examples to illustrate the essential results

Example 1: consider third order delay difference equation

$$\Delta^3 \left[x(n) + \frac{1}{4}x(n-1) \right] + \left[\frac{6}{x(n+2)} \right] = 0, n > 1$$

$$p(n) = \frac{1}{4}, q(n) = 6, f(x(n+2)) = \left[\frac{1}{x(n+2)} \right], \gamma = 1, \mu = 2, \sigma = 1$$

We can find that all the condition of Th (1) are satisfies also we can find a oscillation solution by $(-1)^n$ from this equation.

Example 2: consider third order nutral difference equation

$$\Delta^3 \left[x(n) + \frac{1}{2}x(n-2) \right] - 12(x(n+3))^3 = 0, n > 2$$

$$p(n) = \frac{1}{2}, q(n) = -12, f(x(n+3)) = (x(n+3))^3, \gamma = 1$$

We can find that all the condition of Th (2) are satisfies also we can find a oscillation solution by $(-1)^n$ from this equation.

Conclusion: therein this paper, several necessary and sufficient conditions ,it is obtained to ensure the oscillation behavior of all solution of third order neutral difference equation .

References

- [1] R. P. Agarwal, Difference Equations and Inequalities, Theory, Methods and Applications, Second Edition, Marcel Dekker, New York (2000).
- [2] M. F. Akta,s, A. Tiryaki, A.Zafer: Oscillation of Third-Order Nonlinear Delay Difference Equations, Turk J Math .36 (2012) 422 – 436
- [3] A. Andruch, M.. Migda. ,On The Oscillation of Solutions Of Third Order Linear Difference Equations Of Neutral Type , Math. Bohemica 1 (2005) 19–33
- [4] S. M. Banu, S. Nalini, and R. Arul, Oscillation of Third Order Nonlinear Difference Equations With Several Neutral Terms, Int. J. Math. And Appl., 6(2018) 213-221
- [5] A. B. Jaison, S.K. Khadar, Oscillation For Generalized First Order Nonlinear α Difference Equations. Int.J. of Pur. .Appl. Math. 7 (2016) 67-74
- [6] C.Jayakumar, G.Tamilselvi, Oscillatory Behavior of Solution of Second Order Neutral Delay Difference Equations, IJSART,.4(2018):10-13.
- [7] S. R. Grace and J. Alzabut, Oscillation Results for Nonlinear Second Order

- Difference Equations with Mixed Neutral Terms, Grace and Alzabut Adva.Diff..Eqn8
. (2020)1-12
- [8] S. Kaleeswari , On The Oscillation of Higher Order Nonlinear Neutral Difference Equations ,Kaleeswari Adva in Diff. Eq .275 (2019) 1-12
- [9] A.G. Maria Selvam, M.P. Loganathan. K.R.Rajkumar, Oscillatory Properties of Third -Order Neutral Delay Difference Equations ,Int.J. Math Appl. 3 (2015) 9-13.
- [10] H. A. Mohamad, and I. Z. Mushttt: Oscillations and Asymptotic Behavior of Second Order Non-Linear Neutral Difference Equations, J. of College of Education, 1 (2017):47-56.
- [11] S. Pinelas, S. H. Saker and M.A. Araket, Oscillation Criteria for Second-Order Neutral Difference Equations via Third-Order Difference Equations Int. J. of Diff .Eqn . 12(2017) 131–143
- [12] S.H. Saker, Oscillation Of Third Order Difference Equations, Portugaliae Math., 61 (2004)294-257.
- [13] S. Selvarangam, S.A. Rupadevi, E. Thandapani, and S. Pinelas, Oscillation Criteria For Even Order Neutral Difference Equations ,Opuscula Math. 1 (2019) 91–108
- [14] K.S.Vidhyaa,C.Dharuman, Asymptotic Behavior of Third Order Delay Difference Equations with Positive and Negative Terms, Int.J. Pure.Appl Math 10.(2017)157-165. . 8(2020) 1-12
- [15] K. S. Vidhyaa, C.Dharuman,, Oscillation Theorems For Third Order Nonlinear Delay Difference Equation ,Math.Bohemica.1(2019) 25–37.